#l-2-20)

Zﬁ i"-'? ti\.‘ 2-2 A3 5HE (1)

@ 1B v (%54

igﬂk a4+l o Yoz ium%ﬁjf“itk
3CL y 4 I(t Ié\ X_v\v'aq‘,

g 45
I Ja vith e Batth 3 € 0o BB ¢ 3]
AFE
3@+ 4 L3 tvya 1R
Ig.j— R =K at2a A FR
ThTh |, -] 79
%11 | _ =
M Ko o v (AR ELI 0.
() -a=2b (2) 5%——2— +—3}—

A aFy 12 (T B % BLI\sD.

(D-a+2b = —a+@b) fend

—0 13 (mDx o Ery  AER
2b 1 2x b =rS baﬁfcﬁiiim

(1) 5 -F 75 o hix [ [
' %ﬂ/lﬁ:@ﬁ j ; ym{i‘ﬁ'ﬂig

| 5
* 313 L3 py oo T AREL\2 &) TAL .




Zﬁ & tf\“ 225 ha St C1) Bl

B1-2-20)

@ 18 v (75

AT
36, ,

Jo+h o L5lz AW TEL

t I-é\ X, V\\rlaqo

Iw 47
e 3o cedth v, Hatph 3 & aaTFBL & 3]

> AT

3@+ 4

e g

L¥ o 1B
% X =% a ¥ 20 /fﬁ:ﬂl‘;

Thth 1, -1 9

{481 >

(

|

() ~a=+2b

Ko o v AR A %713 s9.

Yoo -t
(2) 5%""4"*'3

FoaFy 1= (1 B %k BLI\sD.

(D-0+2b = —a+@b) tab

B2 ‘._a_! : lb)‘&_+m\ﬁ%1; 43239
& id (=L 0 Ea4y Okm/ffi:ﬁlgtj-—l 1

2b 13

(2) 5o -

|

J
4

|
T AP e

3

2 xb ®=E5 b Miﬂxi
valkbs[£] | yartpor -1 ]

SN

* 313 AIweaT ARBLE RYILL.



¥ [ -2-2(2)

@ VA R LT e AL LR af PR ESL T 1)

Y dm + 4 (2) —a+%b
b |
(3) —Yx +3y-4& (&) ‘E’Z’O"*Z“Z
9 2)%818

S+ 2% adils LFPadphreRVIE T BB o,
|20 1B 12 Fe s\ 337

ABI2Y RaitB % (200
(1) 3+ 2% () Jxe-2% () %-3x

(])&+&:(3+2)%:- )

BEI P> E S

L e
(2) 3%*29¢=(3_D)%:DK 2323¢
0) %“3%':( “3)%‘—:—\

_—

tﬁ:ﬁu]
P"ﬂ2 VESIE FAEAT )
(I) b6 — 2% (2) —=7a+3a
(3) ‘%y-—j 4) -2% - %

[ $
() = - 2% (b W R



B -2-2(2)
{E@D Lo\ oIl v LT & L& LB afF R EBr 319,

(1) Jx+Yy (2) —a+%£b

% --3x, Y B ~a,<b

Yo bR 3, yw@fﬂ“/ oo FR - -1, l)m’(%l'jz'
(3) ~4x +3y-d (4) ﬂ_;éow.f_i{

B -4, 3y, -8 -4 2 _J

ER -~ %, yafiiR-3 i PPN - =1
ph & AafER - -3 bofit - 3

@ 52018
3+ 2% & filz LIatpemRVIE % BB oo,
| 2 o l% Iz 2B h-Lw 327,

ALY RoaitBe 3.
(1) 3+ 2% (2) J=2% (3) %-3ix

(1) 3%+ 2% = (3+2) % = [ Lq

RV ¥R 3R AR5 kit

o | 23230/
(2) 3%—7_%:(3—)%:
3) % -3%=([71-3)x =|-24)
tf{}:&wl
P12 attBe L3 ss,
(1) 6% -2% (2] ~ fa.+ Ja
o -da
(i) Yy 4) —-2x —%
BN e P
(&) % —2% () g &k
—-% :ﬂf'a*f“:%a:"i'ok



Bl-2-203)

<1313 >
Yoo +5 — T -4 % 19 L3045,

LF e AL R
LT E LR ¢ Bath = T ETE LTS,

é‘%’rS_: T — & )1?3;34&'&5‘.&
= Yy -Px+§ - ¥ $ooch - BEL3T

{ 2ex3

'——_\ kg j ThTdLitR 39,

" ¥ Shwllbix B T23¢L

|

Pl 3) sostBe (32,

(1) T-4+3x -6 (2) %% -2 -32+8
3) 6a+4% - a -3 4) ~a+ 7 - ba -7

() 20+85+7x-2 -6x%

3 R
(6) 47("*'3_-%-!-2%"2_



’EE
Yoo +5 = T - Y % 2t8 L3,

LT B E AL R
LEE 3T IR v Bash =g T 518 L34,

é('}\//'f'hs_" 7//\5_/ = &4 \ 23 EALL P .
e H/I . j2 a 2B 1= #aEl 39.
= S -Tx+§-¥% B s

| 2uk3

\ - ,
) T it 3d

¥ hileix P T23¢L

frl 3 ) Jeonethe 3w,
(1) Tx-4+3x-6 (2) 46 -2 =320 +§
/0N ~/0 X+ 3
3) 6a+% - a-3 4) ~o.+ 7 - ba- 7
o+ ~Ta

(§) 2x+85+7¢~-2 -6x%

Sx+
3 e
(6) LJ{"‘“E‘%+‘Z%-'2
“edwrFaedd

o
=

Hl-2-203)




2 1-2-2(%)

@ | LN o on K

N o+ 2 miﬁ’.m"?fi . 36 adae )JL’??\" [ -
Fdath e | azh « v, |:2azB v Bazh T
FATIN & |20 C wa3d.

<4’5lﬁr> 7 o st & L2 s2

(1) (5&+|)+(2o\~4)
(2) C x-3)+(-32-4)

(1) (5a+l)+ (2a-4) hoi¥ 123135
S EL T s l +( )12 %a3# 37034

) ooz 349

= ba+2a+| -4

l_:_'—_—‘l 1) 2%a1By Blnth & T THEVE 3

() L=+ (~iﬁ-—4)2

v/ P \J?Lﬂ'a
4 - 3 o 'C,L’fj“ .

= -3 |

K —=3%—3— 4 :L_P_\J

P4 oastBz 39
(1) (~4a+7)+(3a-5) (2) (2-8)+(-4x+%)

J1




2 1-2-24)
® | LN o 00y

N 3a+2a1Basy  3aalkdio 2% v | =
EdarBt |2 azB v, [:2a28 v $onzh T
ZA T3 e X % wazd

(8 4>
L W E E L3 e
(1) (S5a+1)+(2a-4)
(2)

( X~ 3)+(—-5‘%_4)

(1) (5a+l)+(2a-4) N poz2e039,
=5a+]| + .Zo\——gl_] +( ) 1d %a23 BFLEY

= 5a+2a+| -4 /) won P39

| 7a-3 5asty Boch s titasin i

(2) (x-3)+(-32-4)

2,7‘;\_7:.‘&33"1.-3'3
- L.
= %-—3_—~3%H<’4‘] +-3% %,

P4 aitBe L3
(1) (~4a+7)+(3a-5)

(2] (20-8)+(~ba+?)



$1-2-2(5)

CARREN PE I FRRI0Z)

(1) (Sa+1)=(2a-4) (2) (x-3)—-(-3x-4)

(1) (5ax+i) - (ﬁz,_..a._4) 7ok (33L37
= 5oa+4]| —2a+4 ) ~C )2, pozadafitoche)?d

— b7 ‘(fw!? LILr?

= 5a-2a+|+4

g I

(2) <%“3)”<“””““))#,%jﬂjg
== i

e AN

—-( )%k p7dcC
CEFNE TV 44

fe) § ZodtB &« Li(sD
(1) (=&a+7)=-(3a-5) (2) (20-8)~ (-6 *8)

RE) 6 Sx-] & -x+8& a4k
3 -/ 7nd —Q+8& FuwlEE IJeanilsd

[~2-2 83




B-2-2(5)

CHL5> Radt® s Lzls

(1) (Sa+1)-(2a-4) () (x-3)—-(-3x-4)

() < Satl) =~ (2a-4) \ »o&(3FLFT
= 50+ ] S 2a +4 ~.._/ ~C )z, pradafrbechd)id

e P —

S~ Y¢ 4TI
= 5- R = 2% 1 i 4‘ A A

A N\ e
B e N S

= [ Jart| T=C D eutic |
| 5 o e keas! [

2) (x-3)-(-3x-%) 2
| Bortirdiyg

= X Adx-3+ 4 = bus/

15} RattEe L1iso
(1) (=%ka+7)=(3a-%) (2) (2m~8)~(~4a+8)

~7a+/2 Px—1/6

T g
Jx -1 75 —-x+8& EFu-lAEE JeanilsD

(#) (Sxe-1)+(-x+8) = 2 %+
(£) (Ja-1) - (-x1®) = -9

[~2-2 343




W -2-2A

a3 A
[ ZafosB v (F8LEBELAI,
(1) 2a -7 (2) %—67-*3

2. Lo E T,
(1) ba+3a (2) T -%

(3) -2a+3a+5a 4) -4 +2x+&

5) =7a-~/+8a-¥% (6) Yx+3-%x-3

J. RaitR e 1 rw.
(1) (4ax-3)+ (bx+5) 2) (4a-3)+(=-3a+5)

G) (=3a+1)+ (x=+1) (4) (4x-3)—-(by+¥)

(§) C4a=-3)=(-3a+5)  (8) (=30t1)—=(x+1)



5‘2 ("2‘2—.!4

A K ) 2R A

[ o\ o 18 v [(RBE Bimaa,

(I) Z2a-3 (2) %"6j+3
8- 20, -3 - %, -6y, 3
R afFR - 2 2=~ ymﬁ‘ﬂ-é
2. il BB B\ Tw
(1) ba+3a (2)  T%— %
Do 4oL
(3) -2a+3a+5a 4) -4 +2x+8&
§a Jut
5) ~7a~-/+ 8a- % (6) @ +3 -x-3
@~ 2

J. RadtB s\ g1,
(1) (4a-3)+ (bx+5) @) (4a-3)+(-3a+5)

[0 +2 a+ 2
B) (=3x+1)+ (+1) (&) (4a-3)—(bo+t)
~2xt 2 —2a=5

§) (4a-3)=(-3a+¥) (6) (=3tl)—(ax+1)

78 = § — G



$1-2-2 B

Ah KR EE B

[. Roitfe 720,

(1) 0.7% =LY% (2] =&+ [JDe
2 _3 Loag— I
ER A R (4) 3 e e J

2. ToifH e 72w,
(1) (~2+a)+(3-a) (2) (=2+0)~(3-a)

B (Fx-5)+(gr-0) & (2as)-(Lx-s)

(5) Sa - (6) So.=
+) 20+ 4 ~) 2a+d




$1-2-2 B

i R FAER B

[. Raitfs (2.

(1) 0.7 - 1.5« (2) &+ [.2a
"‘0\?% 0\26{/
3 3 / -
3 o — = ) Log -
(3) 7 % / (4) 3 (’i'x/-lrzoé
z, % i PP
L ~g % =)

2‘ VL oy %Tﬁ LT 2N
(1) (=2+a)+(3-a) (2) (~2+0)=(3-a)

/ 2a=5

6) (2a-5)+(5x-4) HJ(%%J}—(ﬁ%<+)

:(gm-k)+(i%~4)

|5 7
— ’)C—[
0 18
= X
(5) Sa - T (6) So— 1
+) 20+ 4 "‘) Za+%

[ =3 bo =]



